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B % AT A5 18 (18,560) (3,825)
FAEIEAE -
B 7% & R 7 875 2,071
DA —FEB A IR R QR R A B EE (3,333) (4,864)
B WA 5 (1,956) (2,552)
WEALE—HMHBARBHER ZEF 5 (6,503) -
HE— AT #E BT 5 (4,329) -
HE—HBARSOES BB (8F) 6 765 (3,496)
LEWNBRARZEER (BF) 6 (3,255) 13,260
HERBTEEEZERE 6 777 210
e 6 20,692 17,110
R 6 = 784
EENEAED 6 - 2,528
B E B ERE 6 = 3,777
— B E R R ERRE 6 140 =
HH 8 3 AE B 2 6 932 -
MEBEEEE 6 2,383 =
THREFEHRERK 6 (1,998) (1,588)
HEYESHAK 6 (1,430) (290)
EHEHEE 2 AER K 6 (11) (71)
BEEEBAIZKEERT, (BE) (14,811) 23,054
7 &840 (36,447) (33,110)
RBERARRBL, (M) (5,841) 4,879
Z5IE uy RIE K JE 22 5 3 hn (85,855) (36,438)
BNRE ZeRkEMERREBERD, S (EI) (22,851) 3,968
%ﬁsﬂ&é&ﬂw 770 2,116
B 5N BOE R E ERIRE 93,919 67,967
HihEMRIERETAERM CRd) 50,376 (2,505)
& 5 =58 (801) (4,890)
rEmE/ (R RE (21,541) 25,041
B YF B 1,956 2,552
B F 8 (875) (2,050)
mﬁaéﬂamﬁffzﬁzw L EB 5 - (21)
ENBEBFEH (38) -
BRE(Bf) BINE 290 (1,368)
REFHEESAA/ CRd) F588 (20,208) 24,154
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—EETMF —EE=F
FET FET
(20,208) 24,154
(27,524) (19,759)
1,860 2,697
11,563 =
13,827 -
- (932)

- (63)

= 59,164

1,758 396
(1,246) 263
7,624 40,129
1,171 (4,704)
(20,772) (7,549)
(11,739) 69,642
= 3,248

- (37,700)
10,417 2,895
- (156)
10,417 (31,713)
(21,530) 62,083
277,956 216,383
1,653 (510)
258,079 277,956
226,467 211,973
31,612 65,983
258,079 277,956




